Evaluating o predicate formula Cet 24
Q: Consider —he formulo. o= (3x (VY R, Y, h(z, ).

(et a constant symbol. %, Y, and 2 are Latrioble symbols
h® & o function sgmbo R® 2s a predivate “sgmbols .

I dﬂm{lz) d1,2% cli=2
W hx,¥)=4Y V«,aedma)
RE=X<1,1,2>, <1,2,2>Y4 .
Ei: EW=1 EW=1 E@=2
I will describe two ways of Justitying owr cheices of 1o and E(
Tusttlieation O (similar o tutvrind 5)
Under— I; and By, o becomes.
Hhere exists X €L1,2Y such that for all yeil, 23,
P(fx Y, h(Z,¢) 15 true .
Note that h(z,c) s h(2,2=2 by T and Eq.
When X1, Y1, RO, 2)“75 tue .
Y, R(L2,2) 5 e .
'ﬂ'ws S’hou'S ‘ﬂ?at‘ 1 l—'—E, o . holds .

continued on the next pzzge,



Bvduating a  predicate fomula Oct 24
Justification @

To show Hhat O((I"E‘>=T * % suffrcent T show that

N = ]

< iz z> ”E)

Consider~ ol passtble values B Y . ]
, | N
sed: RN Y, bz, c))d' & Lx OL411) -T becuse

«ail[ﬂﬁaﬂ)
<E¢DXHOL%1](/X) E,[/x»rjwiet](ld) h(z,c )(L o 7

=<1,1,2%> eRL.

Under I, and B, h(z,c) =2

e E,t«»uwam

se 22 R4, h(2,e)) —,—* b@w— :
[xe1)[Y2]
<EDNIR, ElLm219), e o A B
=<1,2,2> eR>

 Both justifications are correct.  Please choose e that you

_are more. cygm‘bﬂable Wwith. Howeuer, hould  understand.
- both justtications . | gau T “



